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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION -‘A’
Question numbers 1 to 10 carry one mark each.

Euclid’s division lemma states that if 2 and b are any two +ve integers, then there
exists unique integers q and r such that

(A) a=bg+r,0<r<b (B) a=bgq+r,0<r<b
(C) a=bg+r,0<r<b (D) a=bq+r,0<b<r

Which of the following is not defined ?
(A) cos 0° (B) tan 45° (D)

The graph of y=p (x) given below.
The number of zeroes of p(x) are :

(A) 0 B) 2
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Figure -1

1
If sinb = 3 then the value of 2 cot?0+2 is :

(A) 6 (B) 9 (C) 18 (D) 4

The mean and median of a data are 14 and 15 respectively. The value of mode is

(A) 16 (B) 17 (C) 13 (D) 18

In ALMN, £ZL=60°, £LM=50°. If ALMN~ APQR, then the value of ZR is
(A) 40° (B) 30° (©) 70° (D) 110°
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tan45° .
sin30° + co0s30° 15

The value of

1
> D) 2

1
a5 B) 1 (©

If 1 is zero of the polynomial p(x)=ax?—3(a—1) x—1, then the value of ‘a’ is
(A) 1 B) -1 © 2 (D) -2

Which of the following is not an irrational number ?

(A) 5-43 (B) 5+3 © 4+2

(secA +tanA) (1—sinA) is equal to :
(A) secA (B) sinA (C) cosecA

SECTION - ‘B’
Question numbers 11 to 18 carry 2 marks each.
In figure-2 AB|| DE and BD|| EF.
Prove that DC? = CFx AC.

Find the zeroes of the quadratic polynomial /3 x2— 8x+4./3.

Write any two merits and demerits of mean.
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In AABC, AB=AC and D is a point on side AC such that BC2=AC - CD. Prove that
BD=BC.

In figure-3, ABC is right triangle, D is mid point of BC.

Show that 29 -1
ow tha tan¢ 2

¢
D
Figure - 3

OR
In APQR right angled at Q, PR+ QR=25cm and PQ=>5cm. Find the value of sin P.

For which values of p does the pair of equations given below has unique solution.
dx+py+8=0; 2x+2y+2=0

Check whether 6" can end with the digit 0 for any natural number n.

The mean of the following data is 7.5. Find the value of p.

X 11

fi

SECTION -‘C’

Question numbers 19 to 28 carry 3 marks each.

secO—1 [secO+1
+ =2 cosecH.

sec +1

Prove that \/

sech —1
OR

1+ sinA
Prove that ,|[———— =secA +tanA
1 — sinA
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On dividing x3—3x%+x+2 by a polynomial g(x), the quotient and remainder were
x—2 and —2x+4 respectively. Find g(x).

An army contingent of 616 members is to march behind an army band of 32 members
in a parade. The two groups are to march in the same number of columns. What is the
maximum number of columns in which they can march ?

OR

Find the HCF and LCM of 306 and 54. Verify that HCF x LCM =Product of the two
numbers.

Evaluate :

2sin68° _ 2cotl5®  3tand5° tan20° tan40° tan50° tan70°
cos22° 5tan75° 5

5 1 6 3
Solve for x and y x—1+y—2=2;x—1_y—2=1'

OR

For what values of a2 and b does the following pairs of linear equations have an infinite
number of solutions.

2x+3y=7; a(x+y)—b(x—y)=3a+b-2.

The perpendicular AD on the base BC of AABC intersects BC in D such that BD =3CD.
Prove that 2AB2=2AC?+BC2.

The given distribution shows the number of runs scored by some top batsmen of the
world in one - day international cricket matches. Find the mode of the data.

Runs Scored

3000-4000

4000-5000

5000-6000

6000-7000

No. of batsmen

4

18

9

7

Runs Scored

7000-8000

8000-9000

9000-10000

10000-11000

No.of batsmen

6

3

1

1
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26. In the figure-4 ABC is a right angled triangle, right angled at C. DE | AB. Prove that
AABC~AADE and hence find the lengths of AE and DE.

D
)
2 cm

v

<«—12 cm—>»

Figure - 4

27. During the medical check up of 35 students of a class, their weights were recorded as
follows. Draw a less than type ogive for the given data. Hence obtain Median weight
from the graph.

Weight (in kg) | No. of students

less than 38
less than 40
less than 42
less than 44
less than 46
less than 48
less than 50
less than 52

243
Prove that T\f is irrational.

SECTION - ‘D’
Question numbers 29 to 34 carry 4 marks each.
Solve the system of equations graphically.

x+2y=>5;2x—3y= —4. Also find the points where the lines meet the x - axis.

P that : tané + ot _ 1+ secB.cosecO
rove that: 1—coth 1-— tand '
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31. If the median of the distribution given below is 28.5, find the values of x and y.

Class Intervals

Frequency

1 1 1

1
Prove that : - = = —
v cosecA — cotA sinA sinA cosecA + cotA

OR

sin29 — 25in46
Prove that : sec20 — 1 5 =1
2cos™ 0 — cosH

If the polynomial x*— 6x3 + 16x2 — 25x + 10 is divided by another polynomial x2—2x +k,
the remainder comes out to be x+a, find the values of k and a.

Prove that the ratio of the areas of two similar triangles is equal to the ratio of the
squares of their corresponding sides.

OR

Prove that in a triangle, if the square of one side is equal to the sum of the squares of the
other two sides, then the angle opposite to the first side is a right angle.

-00o0-
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(A) a=bg+r,0<r<b (B) a=bg+r,0<r<b
(C) a=bg+r,0<r<b (D) a=bg+r,0<b<r

=1 # 9 %A 5 aRenfia 78 © 2
(A) cos 0° (B) tan 45° (C) sec 90° (D) sin 90°

TGS y=p (x) I TR GRT THfd (1) H fo@mn o &1 599 Y= Hi Fen e e
(A) 0 B 2 © 4 (D) 3

N
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1
?Tﬁ:'sin():g 12 cot20 + 2 T HE BT :

(A) 6 B) 9 (© (D) 4

FS, SAlhel HT LM TN HIIEAHT HUW: 14 T 15| THH SgaAsh H1 A &N
(A) 16 (B) 17 (C) 13 (D) 18

B LMN ® ZL=60°, £ M=50°. af¢ ALMN ~ APQR, @ £ R &I | 8T :
(A) 40° (B) 30° (C) 70° (D) 110°
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tan45°
sin30° + cos30°

FAAE :

1

1
A T ®) 1 ©

I p(x) =ax2—3(a—1) x—1 &1 YLATH 1 8 @ 2 FT I9 S :
(A) 1 B) -1 < 2

7= 4 9 =9 91 iy gen TR/ R ?
(A) 5-3 B) 5+3 ©) 4+2

(secA +tanA) (1 —sinA) &R T

(A) secA (B) sinA (C) cosecA

Y99 AT 11 W 18 9% Tk U9 2 3{&h &l T

3Tfd (2) § AB|| DE a1 BD|| EF @ fag =i o -

DC2 =CFx AC.

HHA - 2
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sech 1 secO +1
=2 cosecH.

secH +1

19. fag & \/

secH —1

g7

1+ sinA

fag =0 m =secA + tanA

3 =322+ x+2 I TGIS g(x) ¥ W IV T HHAI: YT A NFA x—2F —2x+4 ¢ dl
FEIR g(x) T FHISC
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306 YT 54 &1 HCF (¥.9.9) 991 LCM (.9.9) 194 Hifae dar gaarfug sifse fs
HCF x LCM =TI H&A1si &1 TUH%a

T 1A HIT |

25in68° _ 2cot15°  3tan45° tan20° tan40° tan50° tan70°
c0s22° 5tan75° 5

6 3
=2;x—1 y—2=1‘

xﬂmygﬁfﬂaﬁﬂﬁﬁz x—1+y—2

a"

a q b % e A & fod = for@ g g g &1 o< & © 2
2x+3y=7; a(x+y)—b(x—y)=3a+b-2.

AABC H ¥R BC R AD @ ¢ a1 fag D 38 &R feord € f BD=3CD
fag #IfST 2AB2=2AC2 +BC2.
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cosecA — cotA sinA  sinA cosecA + cotA

El

sin26 — 2sin49 _
2c0s*0 — cosh?

fasg W sec2 —

I aga8 1% — 633 +16x2 — 25x + 10 Tl TGS x2 —2x + k § fauifa &%, 1 ATHSA x +a ST
T kT ¢ T A 910 F |

fag Y, 1 9HEY sl & SRl H1 ST ITh! [ YSIsTi o STUIA o a7 o & gl
gl

q7

Ffe foreht s o W oo o1 a7t 919 311 1 y[Siteli & it & A1 & aReR 2 ot fag &3 fo o
ST o FTH 1 R0 THHIUT SR |

1040123 - B1




